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QUESTION 1

Given the code fragment: 

Stream files = Files.list(Paths.get(System.getProperty("user.home"))); files.forEach (fName -> { // 

line n1 

try { 

Path aPath = fName.toAbsolutePath(); //line n2 

System.out.println(fName + ":" 

+ Files.readAttributes(aPath, Basic.File.Attributes.class).creationTime 

()); 

} catch (IOException ex) { 

ex.printStackTrace(); 

}); 

What is the result? 

A. All files and directories under the home directory are listed along with their attributes. 

B. A compilation error occurs at line n1. 

C. The files in the home directory are listed along with their attributes. 

D. A compilation error occurs at line n2. 

Correct Answer: C 

 

QUESTION 2

Given: 

public class Counter { 

public static void main (String[ ] args) { 

int a = 10; 

int b = -1; 

assert (b >=1) : "Invalid Denominator"; 

int = a / b; 

System.out.println (c); 
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} 

} 

What is the result of running the code with the -ea option? 

A. -10 

B. 0 

C. An AssertionError is thrown. 

D. A compilation error occurs. 

Correct Answer: C 

 

 

QUESTION 3

Given: 

class UserException extends Exception { } 

class AgeOutOfLimitException extends UserException { } 

and the code fragment: 

class App { 

public void doRegister(String name, int age) 

throws UserException, AgeOutOfLimitException { 

if (name.length () 60) { 

throw new AgeOutOfLimitException (); 

} else { 

System.out.println("User is registered."); 

} 

} 

public static void main(String[ ] args) throws UserException { 

App t = new App (); 

A. doRegister("Mathew", 60); } } What is the result? 

B. User is registered. 

C. An AgeOutOfLimitException is thrown. 
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D. A UserException is thrown. 

E. A compilation error occurs in the main method. 

Correct Answer: C 

 

QUESTION 4

Given the code fragments: 

public class Book implements Comparator { 

String name; 

double price; 

public Book () {} 

public Book(String name, double price) { 

this.name = name; 

this.price = price; 

} 

public int compare(Book b1, Book b2) { 

return b1.name.compareTo(b2.name); 

} 

public String toString() { 

return name + ":" + price; 

} 

} 

and 

Listbooks = Arrays.asList (new Book ("Beginning with Java", 2), new book ("A 

Guide to Java Tour", 3)); 

Collections.sort(books, new Book()); 

System.out.print(books); 

What is the result? 

A. [A Guide to Java Tour:3.0, Beginning with Java:2.0] 

B. [Beginning with Java:2, A Guide to Java Tour:3] 
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C. A compilation error occurs because the Book class does not override the abstract method compareTo (). 

D. An Exception is thrown at run time. 

Correct Answer: A 

 

QUESTION 5

Which statement is true about the single abstract method of the java.util.function.Predicate interface? 

A. It accepts one argument and returns void. 

B. It accepts one argument and returns boolean. 

C. It accepts one argument and always produces a result of the same type as the argument. 

D. It accepts an argument and produces a result of any data type. 

Correct Answer: B 

1Z0-809 PDF Dumps 1Z0-809 Practice Test 1Z0-809 Braindumps

Powered by TCPDF (www.tcpdf.org)

1Z0-809 PDF Dumps | 1Z0-809 Practice Test | 1Z0-809 Braindumps                                5 / 5

https://www.passapply.com/1z0-809.html
https://www.passapply.com/1z0-809.html
https://www.passapply.com/1z0-809.html
http://www.tcpdf.org
https://www.passapply.com/1z0-809.html
https://www.passapply.com/1z0-809.html
https://www.passapply.com/1z0-809.html

